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LIRREMRERER

FTE K 15.13 R IHE S EME e TR E& AR EFEHKRZFE
HHE S R—RBHESHRLAZTAILEZF(CRAESENENG)ETRE LE
REFARRERYHIRZIAEHREASHLS5, 75005 ¥ - REEH
BEFHEHZ I H 5 AT > 1% 15.14 FiR o

% 15.14 rhji% = #%#$510,000 % =4/ 7 $300,000% = A/ F$210,00060
7C ¥ 1,000,0004¢H% & H 2 0.210%15) 2 F o /R Al (RAHBAR H 2 BB E M S
(X5 Frp R ERESHE » MEHEEABRTFERZEY $%$321,000

bR EZS B B & 52 2$45,7500% » A HAERE 2T B & FH$275,2500

Q)& pHERA TP HE T ITES FH$564,250 IR ER 2 ITES FH$275,2500% » 21
ZITEE FH5$289,0000
(BB & X5 FEH) ;e X5 FEFR M ZI1F5H » AJ5HE R 2N -
HRY)ER%E $ 1,296,000
W e (289,000)
M s 510,000
MOR) : REEEE (15,000)
HRSRERZE $ 1,502,000
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#1514 EHRERER

¢ E+HE UBRRZIBE &

ZRBARZAR

SHBERE R
X5 K

BETHZIALAE
A A $ 2,508,750
AR
WEER $ 564,250
LA\ A 53,750
& b B, 330,000
¥ e (577,500)
JEAT R S (374.,700) (4,200)
BETHZFREAN $ 2,504,550
REEHZALARE
B H R $ (510,000)

BREFEHZF LR
EXEHZALRE

AT Z SRR A B R LA
AT FEHE B AR B AT A

EXRTHZFRLAL
EEEHRLBEY

AM ALK B

Je : BN R

W KRB Athm

$  (1,500,000)
85,200)

(510,000)

(1,585,200)
(5,750
$ 403,600

714,800

$ 1,118,400
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TR T (E7NhR) &

MYk (Z) BN S E B IF IR E R

FASE TR ST AT AN & B SE R K T R & B i R SR B S ¥
HEHE 2 X2 TR » K2 B E SR EHRE FRBIJVEERBIERS
FEGWR MR LNERER > LEMPENAF T E2BEE T ZIRIKRE R
RAFIRERAER ZER o ILIh » BBV EEREFRE o < R IEHE
H » 75 R] B [ e 2 48 B 7 2 2F P SR B B o R » 1B 38 I RE A KR RE B S B AR
IFIRE M B E I TIEE RS E) o MAEENE AUt a® Ty 2dh3%
EETR T BB RERER G  EXEFRDREEEEMARSRENA
EiE s mlg . HHEH - REEGHERESH LA TIREMBREMFMEMNZ
BWEN > MAGHERELKE EZEE - Rt - BRY 5 SR IFRIC16
P ESER IR IR E 2B b o BUE o TR R A R o AR RE o e R L
[ERR S 8 Ty Rt BT 2 8 h A b W REZR A B > MR RE A RISRE
e B N E DO REME B W ] i REE 2R JEL iy o

~

PUT #7422 DL ASMEE > R (2)75 5T 2 51 41 e 6 5 RO e 7 20
B A& SE IS 2 MEZR B B Ja B & 5 B EE 7 3 o HL LA [ R B R < U B

gkE L -
D#BHRIEZAZRIBLBEBEA KT BAEERAIE LSS -
Q#HRIAEZANZRBABEHBRELINS » BIINETHES -

JATETE A » R SE A 8 b B 2 W5 B2 915 5 8 BBl R 01 o2 TE U8 T SO » 880
B b B 41 2 ARG R (R KB R B (R PR A I 2 B AR IR © 81 - BISHE
R IF R E 2 2GR T Z IS KR 2 5 & 1 % 4 808 - (KIH 1AS39 JE
RS ZHE » ERE DA REE LS P B Hw R - 78R BRI -
1M IFRIC1645 i » $t ¥ BISMEEREIF R E 2R - 8 B RIEE 2 248 -
A LA A BARARLIF IR E Z IR 5 o Rt » BRI > $55E
5 15 g TE H o B i B S SRR 1P R i MR i R - PR A 3 P S AR
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¢ E+HE UBRRZIBE &

7 ° 3% 0 IAS39 ZJEME5 15 » REHIE—IHE KR 100%z & gEks (40
85%) HE1THERRIT - JETEE 85% 2 B Ig/FRHGH IRTHE - M fELIATTE € 2 85%%
P 42 B8l 1 EL W1 B S SR D o

RINBEIHEZALAOZEZRANERBR BABRNSEERBR ST ES

mAEEMES -

1 A B LUR BB S 3R & B 3 2 i b

BelRs S A SN A SV A fE o IMEAE ~ SCEIIRERE R B AT B0 Bl
HHZAESR E - AR e B Al o s T RERER, - &
MES T HIFESIR TR 1 R F BB R E T EARRE » HE(fHH
(B AR R ) REZR B B 2 2280 » 309 T HE&E y o

BN

BFEAFR X4 1 F 2 B K BAEF B {5 70$500,0008 15 2 B 1571 22 7] 30%
I SE A AR » 15F]/AF] X4 15 5 3£ 0$200,000 X4 £4 H 1HK 108 1 H
53 B 3 HOR S R F) £ 50$20,000 AT Z DR BB RREEH I BHEE -
BAIAFZIIREE R BB ETT o BHBRING IR G EEREE E > S AR
X4 £ 1 A 2 HE A%7c$500,000 &K FIZE 12% > —FFIH - iteE BEFH A
FIFHRE 3£ 70 $500,000 [ 25 o e 8 i T o FHRA i SETCANIAREZR BRI T

X4%F€ 1H 2H 34.60 X4 F12 H31 H 33.48
4H 1H 34.30 X4 F19 34.02
4H30H 34.23 X4F1H1H~4 1830 H¥9 34.56

108 1H 34.09
Q21D

Ve FER) RMBEZGTEE

O & R AN
BEEREFAT 17,300,000
e 17,300,000
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& SETHEMBTM (FR) &

1 H 2 B H % 2 #$500,000%34.66- $17,300,006¢ Ky 2 7:$500,00087 & .
FFE%£70$500,000 H7E 1 A 2 HZ#Hr 2™ EEF5$17,300,000) LIRS 5F]
/A 3000EHE o

@4 A 1 8 ¥ B4

Be—=7T 205,800
SEEBFA AT 205,800

4 B 1 HIE 2 F) 2 55$20,000%30%= $6,0000 & H 2 3 2 08 [l 5
$6,000x34.36-$205,800-

®10 A 1 83 A

RE—=70 204,540
SEEBFA AT 204,540
10 A 1 H 5B ) 2 5t $20,000x30%= $6,000 & H #H & i 57 = #

$6,000%34.08- $304,540-

@12 A 31 HAIEZEKRE
REZHESH AT 2,041,200
REW S 2,041,200

{REAS A A FZ SR RIS — S T ARG BS > SURE P AR - B E
£%3270$200,000x30%- $60,000- 15 7537 2 #$60,000%34.02-$2,041,200 &
FEATE X4 ERERBGHN AR ZBEHEEFHENT -

Y &R HE

REMA $ 500,000 34.60 $ 17,300,000
L WEIRA4 B 1 H) (6,000) 34.30 (205,800)

WEIRAI0 A1 R) (6,000) 34.09 (204,540)
m: wEWE 60,000 34.02 2,041,200
HAREBZERIERER 548,000 18,930,860
REREY - (583,820)
HAKERER $ 548,000 3348 $ 18,347,040
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i

¢ E+HE UBRRZIBE &

RGFI AT 2 ThRe s ER BTG HM B RA KRR ER AR E B 2
DIFHEAR R » 05 2 > HOSR A 30T FTES o B AR o NI RE AR o R
I WA IR 2 Ey A eRAENE S | ($500,000-$6,000%21-$60,000)x33.48
=$18,347,040 HEIZFHEFTIL LR 5 £2%6$18,930,860:2 7% 4H$583,820 fE 7]
B THE PR, c WAHATIERIES#

©®12 A 31 BRPPHIE F AR E

RERHEE 583,820
SEEEFA AT 583,820

R SNG R SEEES Y- %

OfF kA
RE—E7T 17,300,000
REER—=7T 17,300,000

f& A 3£ 70$500,0000 14 A HA FE 25 AR ©

Q4R B M 4 £ BT 4 8.5 A

NEEH 2,041,200
ENHE—%7T 2,008,800
R = 32,400

I B2 A 51 2% 70$500,000%12% $60,0000 A REFFIGHES B - 5
i 4 75 45 ME 25 #1 5.$60,000% 34.02- $2,041,200 JE(JFI| B B LIS BEHE 2 &
WIETEE o RBIRMEZR IS - HAZ R R o

O4r T M & R B4R B EE R A A a1 2k

REER—=T 560,000
RERHEEH 560,000

RMEZH 34.60 TEZE 3348 (HAMN G HERBABHEZB 2 SHE L
$500,000%(34.60- 33.48)=$560,0000 [ B[R I » B A TSR A £
TE$500,000 [ e 2= Ja i 35 20~ /o fE B A2 Bo7r 5$500,000%(34.66-33.48)=
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& SETHBIA/THM (B &

$560,000- g A sk 4 F5 100% > & /b8 #5510~ Fe (B iE i O £ 6 b
AR > THET DURAE ©

PG UL » BEEARIRRE XRGH AT MAE X4 Eh gL 2 R HEE
K $583,820- 1 £% M HE B Sh 9 R E P 8 N 2 4R E A R AR BN &
$560,000 =& il HSE » JhRIRE GRS I b2 4 B - p g T R (UM 1E
) E B EERFRE CRE N T E—BhEL o

2.%

TREHESHLURBEIN FIcEEFES 2 AR

AR5 DU 6 S 7 SR B M5 e 2B B [ P ey > L o B EE R
AL B (B M B SRR > e RE 2R S Bl o A 7 B B B g R 3 (R TI A T HASEER
BB MR THEESE, o

Boln

ARBO\RBREHEAFR X4 FE 1A 2HEFTRRFE 4 B 30 HRE 2 HEXTT
$500,000 iz 52 B S1RE 5 7T o BN AR HE S 148 2 BEF A RFERERT
$500,000 fEzs A b Y8 b T B » HRAEZSERIOT ©

X4E1H2H X4F4H30H
BEARE =R 34.60 34.23

=HAER - 4 B 30 HAE) 34.55

B AR EEEQ R 2 H~4 A 30 H)A » 1542 7§ & 3£ 70$500,0000A fE
25 [ B S 5N Ao 18 il ek 2 #5055 $500,000%(34.66- 34.23)=$185,0000
T3 H 6 S A S B o SR BN T A

(DX4F 1A 28%48

WEEGET I8 EEEEH L2BE » AEM S o
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¢ E+HE UBRRZIBE &

(2)OX4 5 4 A 30 B HRE| X FMELH R AR B HE

@B AR ol iE B 2 g A A $500,000%(34.55-34.23)= $160,0000 —
feim s o # g TREE UHBRECE - A REESE  BERHEAEEES)
Z WA RN - S E LG R T BB 2 A B (EB B8 2 # B 0% o &1 -
K S E & K2 /T E AT R & SIS LUESME S KB 2 A LB
(B #38 Bh 45 2 HE R B R » SUIE BT AR B & KU BN HAEAR B0 (0 2 2 S8 (B8 B 1 e
BRBA % o L 70Tz sk BN T

I
El

Fik— 1 DURHAS G KRR RE A o B B B4 R BR R R o
BEziTEETm T E—2HEH 160,000
MBS 160,000
IR A S8 B AT P > 751 /2 ) 190 4% 4 35 7. $500,000 [R] e 288 L i 38 550 2 o 1 il 38k
B 5$185,000 1A S A OB E A2 F) 4 F5$160,0000 5 6B U S
$185,000:-$160,006=115.625% 35 i & #7/ fufB il & it 35 5 3 6 580t
{7 > T HE T LURAE o

TR DUR IS e S R BT EAS TR 0 2 2 SO B B8 B 415 o 8k BBl 1 o

BpriTEEMTE-EHEH 160,000
R TEHHESEX 25,000
REREE 185,000

FEEE—RAGET » B A A REE LT 2 F]22$160,000 4 » AHAE B 8)
B #45) £$500,000%(34.60-34.23)=$185,0000 ¥ £ B8y » HERIE
#$500,000x(34.55-34.60)= $(25,000) HI| 51 £ 4 Hi1E 4

@X4F 4R 308 HFEARFAETAEFENIESH

RE 160,000
Bz iTtEm T B EHEK 160,000
VLbSE B AN RE & 10 e A2 i B R B BOR 91 R HoAtdR &  PRBISL i E A R

D IFES R E B
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OX1 FHuE R < MY IR EE FEREN R X0 G E 12 & HIR R B BBk T2 & SUAE
H L X0 ££1941]$70,0001% X0 FF g MEER 27.00#1 12 2 £ 41 » F R X0
B Z B2 RA$20,0004% X0 4 10 H 1 HZ M2 26.00 5 1% 2 &% » Bl

£$70,000%27.00-$20,000%26.00=$1,370,060

KHEIES|
F3ISREA

DR EAE T iy e 7 2 R # 85$16,132,000 H A1 /@ X0 FHIR
HEL 2 MR 2 HEET RN

X0 FHALIL - RARK
o : X0 &5 A|

o X0 FERRA

o : X0 F i EMIRE
BREREH

X0 FHIRERER

TNBEM E 8 mEpER AEEE
$ 1,900,000 29.00 $ 55,100,000
70,000 27.00 1,890,000
(20,000) 26.00 (520,000)
30,000 27.50 825,000
- (7,795,000)
$ 1,980,000 25.00 $ 49,500,000

Rl » X1 4538 i 0 B 3R #4852k £5$16,132,000-$7,795,000=$8,337,000
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U501
文字方塊
 
本頁增列
下列說明

U501
線條


5158 513 - 14 - 16EZRECIEES]

B T (EINHR) &

13.(1) % =%$4,200,000+42-$200,000x40% $100,006-$80,000= $20,000 g t.)
1% # 4% % = ($100,000- $80,000)x40%x4 1.5 $332,000
X6 4 12 A 31 8 4% # 1k~ 45 (Bt 3HE) = $100,000H ($100,000- $80,000-$10,000)x40%- $104,000
= WA % 14 + 7 % = ($200,000+ $100,000- $80,000- $10,000)x40% $20,000=$104,000
REME B E R E B BA 2RI A h5=25104,000x41.8-$4,347,200
4 A TR e I AT 2 R A% K 858 = $4,200,000+ $332,000- $10,000%x41.6x40% $4,365,600

& B 2 45 R % =$4,347,200- $4,365,606=$(18,400) &)

O RIEZE @ *E A
MR E 4,200,000 e 166,400
e 4,200,000 MR E 166,400
@ #IHBFTWRE @ BI A
AR E 332,000 WA RER 18,400
HEKE 332,000 AR E 18,400
(2) © #EALHE @ 7R 1aRMNMEEA
e —ET 4,200,000 A &% A 103,750 a
R R — BT 4,200,000 bk Tk 1,250
e 102,500 b
® 124 3187+ 8%m @ AERNERBEAER
HEER 103,750 ¢ RIS R —BT 20,000 e
B R 750 HAERER 18,400
At & — BT 104,500 d AaA B 1,600
a: $100,000X5%?JEG—2X41.% $103,750 b $100,000x5°/01<6—2x41.0= $102,500
c: $100,000X5%?JEG—2X41.% $103,750 d $100,000><5°/o?f—2><41.8= $104,500

e : $100,000x(42-41.8)=$20,000 {£)

14.X5 % 1 A 1 B &4 =($7,350,000+3.5-60%} ($2,000,000- $1,200,0003= $300,000 £ # » 4 4 #44$30,000)
X5 4 4% % M % = ($1,000,008- $30,000)x60%x3 4 $1,978,800
A BAEER &

X544 1R 18&445m $ 300,000 35 $1,050,000
X5 F & A\ EHE 2 8R (30,000) 3.4 (102,000)
WA RER (57,000

X544 12 A 318 44444  $270,000 3.3 $ 891,000
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U501
文字方塊
 
第15章  第13、14、16題之解答已作修訂


¢ B+LHE RABEBE

X5 3 & 3% F R P 43 (4 )= ($7,350,000+3.5) ($1,000,006- $30,000)x60%- $500,000x60% $2,382,000

30370 8] JRIRF] 2 X5 33 1 % $ = ($790,000- $57,000)x60%- $508,200 £ 42)

e Z W T L AR Z N ABIEE Y EMEHTRBER I RNABEE S
X5#1A18 [#&F%ER3 7,350,000 B TN NG| 7,350,000
e 7,350,00 e 7,350,00
X5% 64208 |[Rs 960,000 e 960,000
#E IR 960,000 #A IR F 960,00(
X512 A 318 [ & 0/1eR 3 1,978,800 B RN N 1,978,800
#HEKE 1,978,80 #EKE 1,978,80
AR 508,200 WA RER 508,200
#E IR F 508,200 B RN NG| 508,20(
B ZATA AT 200,000 bE T AHERA 200,000
HAERER 200,000 B2 AT+ 2ok T A 200,000
WA RER 400,000
e 200,000 e 200,000
BRZATE R T R 200,000 BRZATE SRTE 200,00
X64#1A18 Re 8,250,000 £ 8,250,000
B I NG| 7,860,60 #E IR E 7,860,60
HAERER 308,200  #HmAAEH 108,20(
REBRENE 81,200 BokANEG 281,20(
15. (1) IR SN
X6 3 F TR
EAREA | BEER| 38R EA EAREA | BEEE| EFREA
e $ 100,000 1.2 | $ 120,000 Rt $ 300,000 1.2 | $ 360,000
JE A3 250,000 1.2 300,000| & A 3k 400,000 1.2 480,000
#u 400,000 1.2 480,000 1% A& 600,000, 1.4 840,000
L3 800,000 1.2 960,000|1% 4 Z #& 200,000 1.4 280,000
B30 600,000 1.2 720,000| 44 5 N 1,500,000 1.5 2,250,000
SR A 450,000 1.5 675,000
FEER 100,000 1.5 150,000
Hr g A 200,000 1.5 300,000
RE#) 100,000 1.3 130,000
HERAEHR 375,000
$ 3,000,000 $ 4,210,000 $ 3,000,000 $ 4,210,000
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AT (EENhR) @

Ik S| kS|
BERMG RSB R TEAMA

X6 F X6 3% 12 A 318
SHEOBON $ 2,250,000 | |4 $ 120,000  FEAttR#Z $ 480,000
SHE AR A (675,000) | |M&H#cHRzk 300,000 A 840,000
S A $ 1,575,000 | |&® 480,000 1% &4 1,275,000
HKEEA (150,000) | |3 960,000  HAAEH (375,000
He g A (300,000) | | 720,000
AL F A $ 1,125,000 | |B3HirE (360,000)
fio : BAAARE Bk 280,000 $2,220,000 $ 2,220,000
WA (130,000)
B RARG B fr $ 1,275,000

(2) X6 SFRIEAFIFRA=1 A 1 0 RAHEIFMExB0%+ 4% F kit — A — R AR

= ($840,000+$280,000)x80%-$1,125,000x80% $130,000x80%-$375,000x80% $1,392,000

(B %) ##% 5% 2 8 = ($840,000- $1,275,000-$375,000)x80% $1,392,000

(3) X6 F & Ik 4 H 4 3 £ %8 = ($840,000+ $1,275,006- $375,000)x20% $348,000

16. (1)

@
©)

4)

®)

672

X0 F 1 & A4

= $2,730,000+35+60% (€100,000+€5,000+€20,000)

=€5,000 @t > A-F#45€500)

X4 41&3%‘]#&@%2‘,&=€5,000%X41= $102,500

XA F2AEE A Z B A AEH=32,750 &)

KAULH EX | HEHLn
X4 Atk i € 3,000/ 42.0| $ 126,000
X4 5454 (500) 41.5| (20,750)
X4 F B EAER (2.750)
X4 5 B4R AR € 2,500| 41.0| $ 102,500

X3 F B AP iR = (R RAE B+ RS AR R [E F x4 N bt

=[(€100,000+€5,000+ €40,000} €3,000]x42.0x60% $3,729,600

X3 FERMGBM=MRHE S RAFEE—(RA+ AT RLM)ELEF X3 FREHBRIAER

=(€100,000+ €5,000+€40,000)x42.6- (€100,000+€5,000)%35-$900,006=$1,515,000

X4 BT re) TnFAEH , $HR=39748,000 §#)




¢ E+LHE

BE RS
BRUREA | BEEE | r ¥4 BRI A | BEEE | i FR A
i3 7 & 7

e € 20,000 41.0 | $ 820,000F 347 % —Ezk | € 54,0000 41.0 | $ 2,214,00
JE AR 3R 40,000 41.0 1,640,000F 337 % — 2 3% 20,000| 41.0 820,000
X% BMEE| 15,000 41.0 615,000 /& 1% 1 2k 5,000 41.0 205,000
#H 50,000 41.0 2,050,000+ #7114 3% 50,000 41.0 2,050,00(
B R 120,000| 41.0 4,920,000%% & 100,000, 35.0 3,500,00(
PR F M 40,000| 41.0 1,640,000 A= 5,000/ 35.0 175,000
SR RA 80,000| 41.5 3,320,0000% & & £& 40,000f * 1,515,000
FEER 16,000| 41.5 664,0004% & kN 125,000 41.5 5,187,50(
Lie g A 14,000| 41.5 581,000 48 & 1,000/ 41.5 41,500
A MEA 5,000 41.2 206,0004 3 A % ¥ 748,000

€ 400,000 $16,456,000 £€ 400,000 $16,456,00(

(6) WIEFIEE R X4 Fi§H=$5,187,508 $41,500- $3,320,000- $664,000- $581,008= $664,000

X4 3 JR)E A KA A F BE 4] = (€40,000-€30,000)x25%x41 & $104,000

X4 3 & 3% % ik % = ($664,000-£500%41.5)x60%- $104,008= $281,950
(7) X4 FRIEEWP A

=$3,729,600- $281,956- $206,000x60%- ($748,000- $900,000)x60%- $(2,750)x60%-= $3,795,100

(7 #%) AW, $hEA= (X4 F4n A FAXBUBFE F + 5 — NOA + 40 B0 H 308 Sn 3+ R4 2 A14R)

B L] — KRB RS T LA

=[€145,000x42- $664,006-$206,000+ ($748,006- $900,0003 $102,500]x60%- $104,006=$3,795,100
(8) X4 3 IEir i A

= [€145,000x42- $664,000- $206,000+ ($748,006- $900,000) $102,500]x40%- $2,599,400
(9) X4 F452038) TEFAEH | 2IE(K)45=($748,000-$900,000)$(2,750)]x60%+€20,000x(4+-42)=$(112,850)
(10) X4 FRAGHE & ik THIEALER ) 48R

= [$748,000+ ($30,000- $2,750)]x60%}£20,000% (41 40) =$485,150

. %44 =($8,820,000+40+70%) (€200,006+£100,000)
=€15,000 Ex T > & F#44€1,500)
1% # ¥k % = ($2,100,000- $63,000)x70%= $1,425,900
X5 12 A 31 B EWA R
=$8,820,000- $1,425,900- $820,000x70%-
$910,000%x70%- $43,500x70%= $10,339,350 XS¥ 127 31 A% € 13500| 43 |.$ 580.500
(7 )R BB AR 8 =T F A BARF 8+ AH48 S 414 = ($14,190,008- $580,500)x70% $10,339,350

SEeE | ER | HiEHew

X5 1A 1a#% |€ 15000| 40 |$ 600,000
X5 5 & He bl (1,500)| 42 (63,000)
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